2007 MBA - MATHS MODEL QUESTION PAPER

TIME : 3HOUR

Question 1 of 25
If A+ B =90° sin A =pl/q, cos B = 1/s, the carteelation between p, q, r, s will be:

l.ps=qr

2.p2+s2=092+r2

3.pq=rs

4.pr=gs

Mark for revision | Unmark

Question 2 of 25

A vertical flagstaff stands on a horizontal plaReem a point at a distance of 150 feet from itg fthee angle of
elevation of its top is found to be 30°. Find tegght of the flagstaff.

1. 75 feet

2. 86.6 feet

3. 100 feet

4. None of these

Mark for revision | Unmark

Question 3 of 25

Two pillars of equal height stand on either sida obadway, which is 150m wide. At a point on thadway between
the pillars, the elevation of the tops of the psllss 60° and 30°. Find the height of both theapsl!

1.64.95m

2.37.5m

3.75m

4.100 m



Mark for revision | Unmark
Question 4 of 25
Find the value of Y in Y =; given tan = 2.

1.6/7

2.7/3

3.15/14

4.1

Mark for revision | Unmark

Question 5 of 25

Given that cos2a = and sin2a = Find the value of
if tan (a/2) is — 3.

1.65/51

2.4/65

3.38/4

4.4/38

Mark for revision | Unmark
Question 6 of 25
Find the value of:

4.1

Mark for revision | Unmark
Question 7 of 25
In the figure, find X interms of Y & Z



1.X =Y + Ztanq

2.X=Y +Zcotq

3.X=Y +Zcosq

4. X =Y + Zsinq

Mark for revision | Unmark
Question 8 of 25
If sin q = 3/5, find the value of (cos q + tan got q)?

3.2
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Question 9 of 25
If X = Cosec q + Cot g and Y = Cosec q — Cot gnthe

1.X2-Y2=1

2.X2+Y2=1

3.XYy=1

4. XY=-1

Mark for revision | Unmark
Question 10 of 25 )
A vertical pole is 300 metres high. Find the argglbtended by the pole at a point 30003 metres ftobase.



1.45°

2.30°

3.60°

4.37°
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Question 11 of 25

The angles of elevation of the top of a tower ftmro points a and b from the base and in the sara@ht line with it
are complementary. Find the height of the tower.

1.ab

2. (ab)2

3.a+b
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Question 12 of 25
Find the value of cos (-7p/2):

1.0

2.-1

3.$1/02

4.+ 03/2
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Question 13 of 25
Find the minimum value of 4sing for 0° £ q £ 360°:

1.1

2.0



4. Y,
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Question 14 of 25
Given Cos g =, what is the value of?

1.2

2.3

Mark for revision | Unmark
Question 15 of 25
Find the value of sin 430 cos 470 + cos 430 sin 470

1.1

2.2

3.-1

4. None of these

Mark for revision | Unmark
Question 16 of 25
If sin A + cos A =, the value of sin A cos A wileb



4. None of these
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Question 17 of 25
The value of will be:

1. (05 - 1)/4

2. (05 + 1)/4

3. (3-205)

4.1
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Question 18 of 25
If tan A =, the value will be:

1.16/9

2.9/16

3.3/4

4.1
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Question 19 of 25

An aeroplane is flying, having angle of elevatidrbo from a point P on the ground. After ten setsynthe angle of
elevation changes to 300. If the plane is flyinthatheight of 3000 metre, then at what speedfligiity, in m/sec?

2.300

3. 200

4.1000
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Question 20 of 25

An acrobat climbs a rope stretched from a pointh2@res above the ground to a point on the grotind.angle made
by the rope with the ground is 600. Calculate &mgth of the rope.

1.140m

2.80m

3.175m

4.120m
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Question 21 of 25
cos 1° + cos 2° + cos 3° + .... + cos 179° is equal t

1. Positive real number

2. Negative real number

3.0

4. None of these
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Question 22 of 25
If 0 £ A £ 2p, the value of A satisfying the eqoatsin2 A + 2 sin A cos A — 3 cos2 A = 0 will be:

1. p/4

2.pla

3.2p/5

4. p/6

Mark for revision | Unmark

Question 23 of 25

A ladder AB rests against a wall such that OB =©3 metres.
If the end B falls down to D such that BD = 1 metre



and if end A moves to C then AC is equal to

1. 1 metre

2.5

3. $< 1 metre

4.(-5)
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Question 24 of 25

ABC is a triangle in which DA = 600, AB =3 cm aA€ = 4 cm. If BD is the perpendicular from B to thide AC,
what is the length of BD?

1.2

3.2cm

4.1.5cm
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Question 25 of 25
The two sides of the triangle are + 2 and — 2 hedricluded angle is 300, then the third side efttrangle is

4. Cannot determine



